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2 : ;) You will need yarn of approximate length:
c o 2 metres for a 5c¢m square.
- | 6 metres for a 10cm square.
: J 9 metres fora 10cm x 15cm rectangle.
> I 12 metres for a 15cm square.
ST . Tie on as shown on Layer 1 and, going lengthways first (if on a
oL : ,;) : rectangular loom), follow the pattern through Layer 2 (shown in
. o i red) and Layer 3 (shown-in green) then, at the end of Layer 3
g : W i thread the remaining yarn on to the weaving needle.
From the point marked ‘Begin Layer 4’, using the weaving
needle, weave under one over.one (shown in-blue) following the
pattern until the weaving is complete, tying off where marked.
Ease the finished weaving up and off the pins.
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